—$_ 2015-2021 Ford F-150

PRECESION TRANSFER CASE SKID PLATE
DESIGN & MANUFACTURING Mounting Diagram
KIT #P700390

IMPORTANT:

Manufacturer Ts not responsible for negligent use of vehicle with Skid Plate Installed,
Including over-tightening of screws and bolts causing damage to vehicle or guard.

Components - Transfer Case Skid Plate
Item Name QTyY Part No
Transfer Case Skid Plate 1 702470
44 Parts Bag (contents below) 1 702473
Mount Bracket w/ Clinch Nut 3 702472
Washer, Lock, 18-8SS, 1/4" 6 024000
Washer, Flat, 0.281" x 1" x 18 Ga, SS 6 018028
Capscrew, SS, 1/4" - 20UNC x 1" 6 014007

Note: Transfer Case Skid Plate must be installed in conjunction
with the 3 Piece F-150 Skid Plate Kit #700374

Mounting Diagrams

uole’0]

InN Sunds
.8/€ 19¥oeig
Hoddns apis

Driver Side

-

Frame

uoe’07
9T/

NN Bunds

3an4] Jo Juou4

104 suoI3eI07
1j09 AJoloey

13qWBJA| 55017 3|PPIAI
prys 8uunaag

(s1€1d pys |euondo)
133N 55040 Jeay

£t pue z4 seied
J2GWBIA S50J) 1U0I4

<
o
c
E
=
@
z
o
o
=~
e
-
o
a
o
=4
°
3

yonJ| Jjo Jeay

uofelo]
Hog -1

O~ uoliesot nN 8uuds ,8/¢ —O

Frame

T~

Passenger Side

uoj3ed’o]
NN Sunds
8/€ 19deig
poddns apis

1|Page



Transfer Case Skid Plate Installation

1) Install the 3x mounting brackets with clinch nuts over the cross member.

2) Loosen the two bolts securing the back end of the #3 skid plate.

3) Slide the front of the #4 skid plate underneath the back of the #3 skid plate.

4) Install the 6x 1/4” — 1” capscrews with locking washers and flat washers to secure the rear of the #4 skid

plate to the cross member.

oo B

2|Page



#4

#3

#2

THREE PIECE SKID PLATE SYSTEM WITH OPTIONAL TRANSFER CASE SKID
PLATE

#1

3|Page



